Residual versus local y

E — — e 1esXTDGPst_physics_5058060.root ss (0,12]
éHlOG——j ..................... :
© - | ——e—— resXTDGPst_physics_5058060.root ss (12,24]
=) . :
%O 04 = | ——e—— resXTDGPst_physics_5058060.root ss (24,36]
Q0.04 i, g
o - || ——e—— resXTDGPst_physics_5058060.root ss (36,48]
0.02|-9i®omrmmmreemrierrrrrsisiiiiiiiis ® i) . SRRSO SO
o : ° : C e
| . . 9400 e i ge
@ ° L : :
0 _‘;.: ..‘.".'..r.r o 200 i MM&? ﬁ ot TR
é y ‘: ‘ i -j & )
B ’t .*.?(.' ‘. ‘(“*;(’w. . u‘.
— ) o e : : : [ ]
| ® ® 5
0. 02 e e e e e
-0.04 i | IR R T N T I T (T T T AR SR N SN S N

60 80 100 120 140 160 180

Tue Feb 1 19:05:28 2005 Local Y



